= o E 3 &
B E s (P
‘ (HIBREFED)
SF64E 58 14 B CKIER) HE B F R K X & #
ik mus | awk| ww | ve | oz | wa | BE ) ms Bk mus | Avk| wi | ew | e g8 | 20w
B | 8.0 | 1,944 ~ 648 |10 x| 1ok | B& YUby =i | 01 140 ~ 108 |o1 « BEY
KR X B | 57 [4,320]| ~ {1,296 |2 % L
E3HETL
AB
B9 | 6 | 50 | 2,700 | 1,620 | 1,296 |0 x| wn | &e | | b | 01 | 162 | 140 | 130 |07 k| @mh | MRET
o =i | 05 | 1,404 ~ 864 |5 & ERVATA g | 01 | 1,296 | ~ 1,080 [ 1 k| @mh | rLx
== AFeFaaly | wH | o1 | 1,620 ~ 864 |1 k| mh | rux
K& 0.1 324 ~ 81 BEE
1 k| #h
oz B .
B B | 0.1 ~ 3,780 ~ K| 108 | B&
TR 0.1 | 3,45 ~ 3,024 | 4 k| mh | B&&
— " ,456 ;
BHE R | 2.0 | 2,160 ~ 864 |10 «| mh | e
B | 3.0 | 2,160 ~ 1,296 | 15 k| #h | wEE
B3k
AT Ay
B | 25.0 | 2,808 | 2,160 | 1,080 | 10 k| mh | mRS BRE| 15 | 3,672 ~ 1,080 | 10 k| #h | BRE
Fp
I} 5 ~ iy &
Sy, |EJRE| 05 | 2,160 1,944 [ 10 « | ®h | #E&
ARE
K&y | 06 | 1,404 ~ 1,080 [ 3 k| @A [ AgL EX
Fnx B | 0.1 | 3,240 ~ 1,296 | 3 k| 0% | BRE k¥ | 4.0 | 3,780 ~ 1,512 |20 x| #®h | BRE
boxrd | I | EMF | 45 | 4,104 ~ 2,160 | 10 & BeE
s E | 0.1 | 2,970 ~ 1,890 | 5 k| @h | B& HEbo&Ey B 0.1 864 ~ ~ ok B’
HiF | 0.2 | 2,160 ~ 1,944 | 12 E| @h
i 2 | 10 | 108 76 |01 «
AfEE — 1 '
B | 3.0 ~ ~ .
- B 36 01k
—HiE 1,620 ~ 1,296 BE
ZHiE 1,620 ~ 1,350 B®E
B R Bl | 38.2 | 1,620 ~ 1,512 | 5 k ®e de AR | EEF | 35 [ 1,404 | 1,188 756 3 k| #wh | R&
R 1,620 ~ 1,512 BRE
Fak 1,620 ~ 1,404 ®’E Ry EIRF | 03 864 756 648 2 k| Wh | FHES
#
# HH | 1.0 | 1,080 | 648 324 |1 &
KARZE =L ~ 1,296 ~ 208 | B&
- B | 07 [ 2,160 1,944 | 1,612 | 5 k| ®h | BES 23 Bl ~ 864 ~ oK BE
B | 3.5 | 1,890 ~ 864 | 4 k BES 7ot =05 2,700 ~ 1,620 208 | MRS
k=t
Zy—AM E# | 01 | 1,080 ~ 864 | 4 & RE e-2] E W 2,160 ~ 1,944 103K
=pwh i | 70 | 119 | 86 76 o2 k| mh | & NS B 1,080 | ~ 864 0% | wge
TR 150 | 5,832 | ~ 4,320 |10 & BE EBH Bl | 0.1 ~ 86 ~ |0z k| #h
B b=
Bk 11 15400 ~ |4,320]|mn0 « - FoBVE il 756 ~ 648 103
R —v s | 03 | 3240 ~ | 1,620 |10 « BES
T D
Ea 36.3 t | MARE | 170.6 t
¥




